PAPER DETAILS

TITLE: generalizations of the Feng Qi Type Inequality for Pseudo-Integral

AUTHORS: Bayaz DARABY, Amir SHAFILOO, Asghar RAHIMI

PAGES: 695-702

ORIGINAL PDF URL: https://dergipark.org.tr/tr/download/article-file/230947



Generalizations of The Feng Qi Type Inequality For Pseudo-Integral

Bayaz DARABY^{1,♠}, Amir SHAFILOO¹, Asghar RAHİMİ¹

¹University of Maragheh, Department of Mathematics, P.O. Box: 55181-83111, Maragheh, IRAN

Received:12/09/2015

Accepted: 06/11/2015

ABSTRACT

In this paper, generalizations of the Feng Qi type integral inequalities for pseudo-integrals are proved. There are considered two cases of the real semiring with pseudo-operations: One discusses pseudo-integrals where pseudo-operations are given by a monotone and continuous function g. The other one focuses on the pseudo-integrals based on a semiring ([a; b]; sup;), where the pseudo-multiplication is generated. Some examples are given to illustrate the validity of these inequalities.

Keywords: Sugeno integrals, inequality, Feng Qi inequality, Fuzzy integral inequality

1. INTRODUCTION

Pseudo-analysis is a generalization of the classical analysis, where instead of the field of real numbers a semiring is taken on a real interval endowed with pseudo-addition and with pseudo-multiplication (see [18, 22, 25]). Based on this structure there where developed the concepts of -measure (pseudo-additive measure), pseudo-integral, pseudo-convolution, pseudo-Laplace transform and etc. pseudo-analysis would be an interesting topic to generalize an inequality from the framework of the classical analysis to that of some integrals which contain the classical analysis as special cases [3, 4, 5, 7, 9, 10, 11, 12, 13, 14, 20, 24].

The integral inequalities are good mathematical tools both in theory and application. Different integral inequalities including Chebyshev, Jensen, Holder and Minkowski inequalities are widely used in various fields of mathematics, such as probability theory,

differential equations, decision-making under risk and information sciences.,

Theorem 1.1. Let n be a positive integer. Suppose f(x) has continuous derivative of the n-th order on the interval [a,b] such that $f^{(i)}(a) \ge 0$, for $0 \le i \le n-1$ and $f^{(n)}(x) \ge n!$, then

$$\int_{a}^{b} [f(x)]^{(n+2)} dx \ge \left(\int_{a}^{b} f(x) dx \right)^{(n+1)}$$

In [1] the Feng Qi type inequality for Sugeno integral is presented with several examples given to illustrate the validity of this inequalities.

Theorem 1.2. Let μ be the Lebesgue measure on \mathbb{R} and let $f:[0,1] \to [0,\infty)$ be a real valued function

The aim of this paper is to study some general Feng Qi type inequality for pseudo-integrals of monotone functions. We think that our results will be useful for those areas in which the classical Feng Qi inequality plays a role whenever the environment is non-deterministic. In [29], Feng Qi studied a very interesting integral inequality and proved the following result:

^{*}Corresponding author, e-mail: bdaraby@maragheh.ac.ir

such that $\int_0^1 f d\,\mu = p$ such that strictly decreasing function, such that $f\left(p^{n+1}\right) \geq p^{\left(\frac{n+1}{n+2}\right)}$, then the inequality

$$(s)\int_0^1 f^{n+2}d \ge \left((s)\int_0^1 f d\mu\right)^{n+1}$$

holds for all $n \ge 0$

Theorem 1.3. Let $^{\mu}$ be the Lebesgue measure on \mathbb{R} and let $f:[0,1] \to [0,\infty)$ be a real valued function

such that $\int_0^1 f d\mu = p$ such that $\frac{\int_0^1 f d\mu = p}{\text{decreasing function, such that} }$

strictly decreasing function, such
$$f\left(1-p^{n+1}\right) \ge p^{\left(\frac{n+1}{n+2}\right)}, \text{ then the inequality}$$

$$(s)\int_0^1 f^{n+2}d \ge \left((s)\int_0^1 f d\mu\right)^{n+1}$$

holds for all $n \ge 0$.

The paper is organized as follows: Section 2 contain some of preliminaries, such as pseudo-operations and pseudo-analysis as well as integrals. In Section 3, we have proved generalizations of the Feng Qi type inequality for pseudo-integrals. Finally, a conclusion is given in Section 4.

2. PRELIMINARIES

In this section, some definitions and basic properties of the Sugeno integrals and pseudo-integrals which will be used in the next sections are presented.

Definition 2.1 Let Σ be a σ -algebra of subsets of X and let $\mu: \Sigma \to [0,\infty)$ be a non-negative, extended real-valued set function, we say that μ is a fuzzy measure iff:

$$(FM1)$$
 $\mu(\varnothing) = 0$;

(FM2) $E, F \in \Sigma_{and}$ $E \subseteq F_{imply}$ $E \le F_{(monotonicity)}$;

(FM3)
$$(E_n) \subseteq \sum_i E_1 \subseteq E_2 \subseteq \dots$$
 imply
$$\lim \mu(E_n) = \mu \left(\bigcup_{i=1}^{\infty} E_i \right)$$
 (continuity from below);

$$(\mathrm{FM4}) \qquad \left(E_n\right) \subseteq \Sigma, \ \mathrm{E}_1 \supseteq E_2 \supseteq ..., \mu(\mathrm{E}_1) < \infty$$

$$\lim \mu(E_n) = \mu \Biggl(\bigcap_{i=1}^\infty E_i \Biggr)$$
 (continuity from above).

Let (X, F, μ) be a fuzzy measure space and f is a non-negative real-valued function on X, by F_+ we denote the set of all non-negative measurable function f with respect to F and F_α denote the set $\{x \in X \mid f(x) \geq \alpha\}$, the α -level of f, for $\alpha \geq 0$ $F_0 = \{x \in X \mid f(x) > 0\} = \operatorname{supp}(f)$ is the support of f. We know that $\alpha \leq \beta \Longrightarrow \{f \geq \beta\} \subseteq \{f \geq \alpha\}$

Definition 2.2. Let μ be a fuzzy measure on (X, Σ) . If $f \in F$ and $A \in \Sigma$, then the Sugeno integral (or fuzzy integral) of f on A, with respect to the fuzzy measure μ , is defined [32] as

$$(s)\int f d\mu = \bigvee_{\alpha \geq 0} (\alpha \wedge \mu(A \cap F_{\alpha}))$$

Where \vee , \wedge denotes the operation \sup and inf on $[0,\infty)$ respectively. In particular, if A=X, then

$$(s) \int f d\mu = \bigvee_{\alpha \ge 0} (\alpha \wedge \mu(F_{\alpha}))$$

The following proposition gives most elementary properties of the fuzzy integral and can be found in [32].

Proposition 2.3. Let (X, F, μ) be a fuzzy measure space, with $a,b \in \Sigma$ and $f,g \in F$. We have

$$(s)\int_A f d\mu(A);$$

2.
$$(s)\int_A kd\mu \le k \wedge \mu(A)$$
, for k non-negative constant;

3. If
$$f \le g$$
 on A, then
$$(s) \int_A f d\mu(A) \le (s) \int_A g d\mu(A)$$
.

4. If
$$B \subset A$$
, then
$$(s) \int_{B} f d\mu(A) \leq (s) \int_{A} f d\mu(A)$$
.

5. If
$$\mu(A) \le \infty$$
, then $(s) \int_A f d\mu(A) \ge \alpha \Leftrightarrow \mu(A \cap \{f \ge \alpha\}) \ge \alpha$

$$\mu(A \cap \{f \ge \alpha\}) \le \alpha \Rightarrow (s) \int_A f d\mu(A) \le \alpha$$

7.
$$(s) \int_{A} f d\mu(A) < \alpha \Leftrightarrow \text{there exists}$$

$$\gamma < \alpha \text{ such that } \mu(A \cap \{f \ge \gamma\}) < \alpha$$

$$;$$

8.
$$(s)\int_A f d\mu(A) > \alpha \Leftrightarrow$$
 there exists $\gamma > \alpha$ such that $\mu(A \cap \{f \ge \gamma\}) > \alpha$.

Remark 2.4. Let $F(\alpha) = \mu(A \cap F_{\alpha})$, from parts (5) and (6) of the above Proposition, it very important to note that

$$F(\alpha) = \alpha \Longrightarrow (s) \int_A f d\mu = \alpha$$

Thus, from a numerical point of view, the Sugeno integral can be calculated by solving the equation $F(\alpha)=\alpha$

Definition 2.5. Let [a, b] be a closed (in some cases can be considered semiclosed) subinterval of $[-\infty,\infty]$. The full order on [a, b] will be denoted by \leq . The operation \bigoplus (pseudo-addition) is a function \bigoplus : [a, b]×[a, b] \rightarrow [a, b] which is for x, y, z, 0 (zero element) \in [a, b] it satisfies the following requirements:

(i)
$$x \oplus y = y \oplus x$$
;

(ii)
$$(x \oplus y) \oplus z = x \oplus (y \oplus z)$$
;

(iii)
$$x \leq y \Rightarrow x \oplus z \leq y \oplus z$$
;

(iv)
$$0 \oplus x = x$$
.

$$_{\text{Let}}[a,b]_{+} = \{x \mid x \in [a,b], 0 \le x\}$$

Definition 2.6. A binary operation function \odot : $[a, b] \times [a, b] \rightarrow [a, b]$ is called a pseudo-multipication, for x, y, z, 1 (unit element) $\in [a, b]$ it satisfies the following requirements:

(i)
$$x \odot y = y \odot x$$
;

(ii)
$$(x \odot y) \odot z = x \odot (y \odot z)$$
;

(iii)
$$x \leq y \Rightarrow x \odot z \leq y \odot z$$
 for all $[a,b]_+$.

(iv)
$$(x \oplus y) \odot z = (x \odot z) \oplus (x \odot y)$$
:

$$(v)$$
 $1 \oplus x = x$;

(vi)
$$\lim_{n \to \infty} x_n \quad \lim_{n \to \infty} y_n \text{ exist and finite then}$$

$$\lim_{n \to \infty} (x_n \odot y_n) = \lim_{n \to \infty} x_n \odot \lim_{n \to \infty} y_n$$

We assume also $0 \odot x = x$ that \odot is a distributive pseudo-multiplication with respect to \oplus , i.e., $x \odot (y \oplus z) = (x \odot y) \oplus (x \odot z)$. The structure ([a, b], \oplus , \odot) is a semiring ([16]). In this paper, we will consider semirings with the following continuous operations:

Case I: The pseudo-addition is idempotent operation and the pseudo-multiplication is not.

- (a) $x \oplus y = \sup(x, y)$, \odot is arbitrary not idempotent pseudo-multiplication on the interval [a, b]. We have 0 = a and the idempotent operation \sup induces a full order in the following way: $x \preceq y$ if and \sup if $\sup(x, y) = y$.
- (b) $x \oplus y = \inf(x, y)$, \odot is arbitrary not idempotent pseudo-multiplication on the interval [a, b]. We have 0 = b and the idempotent operation inf induces a full order in the following way: $x \preceq y$ if and only if $\inf(x, y) = y$

Case II: The pseudo-operations are defined by a monotone and continuous function $g:[a,b] \to [0,\infty]$, i.e., pseudo-operations are given with $x \oplus y = g^{-1}(g(x) + g(x))$ and $x \odot y = g^{-1}(g(x)g(x))$. If the zero element for the pseudo-addition is a, we will consider increasing generators. Then g(a) = 0 and $g(b) = \infty$. If the zero element for the pseudo-addition is a, we will consider increasing generators. Then a is increasing consider decreasing generators. Then a is increasing (respectively decreasing), then the operation induces the usual order (respectively opposite to the usual order) on

the interval [a, b] in the following way: $x \leq y$ if and only if $g(x) \leq g(y)$

Case III: Both operations are idempotent. We have.

- (a) $x \oplus y = \sup(x, y)$, $x \odot y = \inf(x, y)$, on the interval [a, b]. We have 0 = a and 1 = b. The idempotent operation \sup induces the usual $\operatorname{order}(x \preceq y)$ if and only if $\sup(x, y) = y$.
- (b) $x \oplus y = \inf(x, y)$, $x \odot y = \sup(x, y)$ on the interval [a, b]. We have 0 = b and 1 = a. The idempotent operation inf induces an order opposite to the usual order $(x \preceq y)$ if and only if $\inf(x, y) = y$.

Definition 2.7. A set function $m: \Sigma \to [a,b]_+$ (or semiclosed interval) is a $\sigma - \oplus -$ measure if there holds:

(i)
$$m(\emptyset) = 0;$$

$$\left(\bigcup_{i=1}^{\infty} A_i\right) = \bigoplus_{i=1}^{\infty} m(A_i)$$

$$\text{sequence} \quad A_i \quad \text{of pairwise disjoint sets}$$

$$\sum_{i=1}^{\infty} (x_i) = \lim_{n \to \infty} \bigoplus_{i=1}^{n} (x_i)$$

Let X be a non-empty set. Let A be a σ -algebra of subsets of a set X.

We shall consider the semiring ([a, b], \oplus , \odot), when pseudo-operations are generated by a monotone and continuous function $g:[a,b] \to [0,\infty]$, i.e., pseudo-operations are given with

$$x \oplus y = g^{-1}(g(x) + g(y))$$
$$x \odot y = g^{-1}(g(x)g(y))$$

For $x\in [a,b]_+$ and $p\in]0,\infty[$, we will introduce the pseudo-power $x^{(p)}_{\odot}$ as follows: if p=n is a natural number, then

$$x_{\odot}^{(n)} = x \odot x \odot \dots \odot x$$

Moreover,
$$x_{\odot}^{(\frac{1}{n})} = \sup\{y \mid y_{\odot}^{(n)} \leq x\}$$
. Then $x_{\odot}^{(\frac{m}{n})}$ is well defined for any rational $r \in]0,1[$, independently of representation $r = \frac{m}{n} = \frac{m_1}{n_1}; m; n; m_1; n_1$ being positive integers

the result follows from the continuity and monotonicity of \odot). Due to continuity of \odot , if p is not rational, then

$$x_{\odot}^{(p)} = \sup\{x_{\odot}^{(r)} \mid r \in]0, p[, r \in \mathbb{Q}\}$$

Evidently, if $x \odot y = g^{-1}(g(x)g(y))$, then $x_{\odot}^{(p)} = g^{-1}(g^{p}(x))$. On the other hand, if \odot is idempotent, then $x_{\odot}^{(p)} = x$ for any $x \in [a,b]$ and $p \in]0,\infty[$

Let m be a \oplus -measure, where \bigoplus has a monotone and cotinuous generator g, then $g \circ m$ is a σ -addetive measure in the following two important case of integral based on semiring ([a, b], \bigoplus , \odot) are discussed. Thus, the pseudo-integral of function $f: X \to [a, b]$ is defined by

$$\int_{X}^{\oplus} f \odot dm = g^{-1} \left(\int_{X} (g \circ f) d(g \circ m) \right)$$

where the integral applied on the right side is the standard Lebesgue integral. In fact, let $m=g^{-1}\circ\mu$, μ is the standard Lebesgue measure on X, then we obtain

$$\int_{X}^{\oplus} f dx = g^{-1} \left(\int_{X} (g(f(x)) dx \right) dx$$

More on this structure as well as corresponding measures and integrals can be found in [8, 15].

The second class is when $x \oplus y = \max(x, y)$ and $x \odot y = g^{-1}(g(x)g(y))$, the pseudo-integral for a function $f: \mathbb{R} \to [a,b]$ is given by

$$\int_{X}^{\oplus} f \odot dm = \sup (f(x) \odot \psi(x))$$

where function ψ defines sup-measure m. Any sup-measure generated as essential supremum of a continuous density can be obtained as a limit of pseudo-additive measures with respect to generated pseudo-additive [19]. For any continuous function

 $f:[0,\infty] \to [0,\infty] \text{ the integral } \int^{\oplus} f \odot dm \text{ can}$ be obtained as a limit of g -integrals, [19]. We denoted by $^{\mu}$ the usual Lebesgue measure on \mathbb{R} . We have

Theorem 2.8. ([21]). Let m be a sup-measure on ($[0,\infty]$, $\mathbf{B}[0,\infty]$), where $\mathbf{B}([0,\infty])$ is the Borel σ -algebra on $[0,\infty]$, $m(A) = ess \sup_{\mu} (\psi(x) \mid x \in A)$, and $\psi:[0,\infty] \to [0,\infty]$ is a continuous density. Then for any pseudo-addition \mathfrak{B} with a generator \mathfrak{B} there exists a family ($\mathfrak{B}([0,\infty])$) is a generated by $\mathfrak{B}([0,\infty])$, $\mathfrak{B}([0,\infty])$, where $\mathfrak{B}([0,\infty])$, $\mathfrak{B}([0,\infty])$, such that $\mathfrak{B}([0,\infty])$ of $\mathfrak{B}([0,\infty])$, such that $\mathfrak{B}([0,\infty])$ is a generated by $\mathfrak{B}([0,\infty])$.

$$\int_{-\infty}^{\sup} f \odot dm = \lim_{\lambda \to \infty} \int_{-\infty}^{\oplus_{\lambda}} f \odot dm = \lim_{\lambda \to \infty} (g^{\lambda})^{-1} \left(\int g^{\lambda} (f(x)) dx \right)$$

3. FENG QI INEQUALITY FOR PSEUDO-INTEGRALS

The aim of this section is to show that Feng Qi type inequality is deriving from [1] for the pseudo-integral.

Now we peresent generalizations of two above mentioned theorems for pseudo-integral.

Theorem 3.1. For a given measurable space (X, A), let $f:[0,1] \to [0,1]$ be a real-valued function such

that
$$(s)\int_0^1 f d\mu = p$$
 If f is a continuous and strictly decreasing function, such that
$$f\left(p^{n+1}\right) \geq p^{\left(\frac{n+1}{n+2}\right)}$$
 and let a generator $g:[0,1] \to [0,\infty)$ of pseudo-addition \oplus and

pseudo-multipication \odot be decreasing function, then the inequality

$$\int_{[0,1]}^{\oplus} f_{\odot}^{n+2} \odot dm \ge \left(\int_{[0,1]}^{\oplus} f_{\odot} \odot dm \right)_{\odot}^{n+1}$$

holds for all $n \ge 0$ and $\sigma - \oplus$ -measure m.

Proof. We apply the classical Feng Qi inequality and obtion:

$$\int_0^1 (g \circ f)^{n+2} d(g \circ m) \ge \left(\int_0^1 (g \circ f) d(g \circ m) \right)^{n+1}$$

Since function g is decreasing function, so g^{-1} is also decreasing function and we obtion

$$g^{-1}\left(\int_0^1 (g \circ f)^{n+2} d(g \circ m)\right) \ge g^{-1}\left(\int_0^1 (g \circ f) d(g \circ m)\right)^{n+1}.$$

For left side of inequality we have

$$g^{-1}\left(\int_{0}^{1} (g \circ f)^{n+2} d(g \circ m)\right) = g^{-1}\left(\int_{0}^{1} g(g^{-1}(g \circ f)^{n+2}) d(g \circ m)\right)$$

$$= g^{-1}\left(\int_{0}^{1} g(f_{\odot}^{n+2}) d(g \circ m)\right)$$

$$= g^{-1}\left(g\left(g^{-1}\left(\int_{0}^{1} g(f_{\odot}^{n+2}) d(g \circ m)\right)\right)\right)$$

$$= g^{-1}\left(g\left(\int_{0}^{1} f_{\odot}^{n+2} \odot dm\right)\right)$$

$$\int_{[0,1]}^{\oplus} f_{\odot}^{n+2} \odot dm$$

For right side of inequality we have

$$g^{-1} \left(\int_0^1 (g \circ f) d(g \circ m) \right)^{n+1} = g^{-1} \left(\int_0^1 g(g^{-1}(g \circ f)) d(g \circ m) \right)^{n+1}$$

$$= g^{-1} \left(\int_0^1 g(f_{\odot}) d(g \circ m) \right)^{n+1}$$

$$= g^{-1} \left(g \left(g^{-1} \left(\int_0^1 g(f_{\odot}) d(g \circ m) \right)^{n+1} \right) \right)$$

$$= g^{-1} \left(g \left(\int_{[0,1]}^{\oplus} f_{\odot} \odot dm \right)^{n+1} \right).$$

Hence we have

$$\int_{[0,1]}^{\oplus} f_{\odot}^{n+2} \odot dm \ge \left(\int_{[0,1]}^{\oplus} f_{\odot} \odot dm \right)_{\odot}^{n+1}.$$

Theorem 3.2. For a given measurable space (X, A), let $f:[0,1] \to [0,1]$ be a real-valued function such

that
$$(s)\int_0^1 f d\mu = p$$
 that If f is a continuous and strictly decreasing function, such that
$$f\left(1-p^{n+1}\right) \geq p^{\binom{n+1}{n+2}}$$
 and let a generator
$$g:[0,1] \to [0,\infty) \text{ of pseudo-addition} \oplus \text{ and pseudo-multipication } \odot \text{ be decreasing function, then the inequality}$$

$$\int_{[0,1]}^{\oplus} f_{\odot}^{n+2} \odot dm \ge \left(\int_{[0,1]}^{\oplus} f_{\odot} \odot dm \right)_{\odot}^{n+1}$$

holds for all $n \ge 0$ and $\sigma - \oplus$ -measure m.

Proof. The proof is similar with the Theorem 3.1.

Example 3.3. Let
$$g(x) = \ln(x)$$
, then $x \oplus y = xy$, $x \odot y = e^{\ln(x) \cdot \ln(y)}$

By Theorem 3.1, the following inequality holds:

$$\ln \int_0^1 e^{(\ln f(x))^{n+2}} \ge \left(\ln \int_0^1 e^{(\ln f(x))}\right)^{n+1}$$

In the sequel, we generalize the Feng Qi inequality by the semiring ([a, b], max, \bigcirc), where \bigcirc is generated.

Theorem 3.4. Let $f:[0,1] \rightarrow [0,1]$ be a real-valued, continuous and strictly increasing function such

that
$$(s)\int_0^1 f d\mu = p$$
 . If \odot is represented by a increasing generator g and m is a complete supmeasure same as in Theorem 2.9, then with condition

$$f\left(1-p^{n+1}\right) \ge p^{\left(\frac{n+1}{n+2}\right)}$$
, the inequality

$$\int_{[0,1]}^{\sup} f_{\odot}^{n+2} \odot dm \ge \left(\int_{[0,1]}^{\sup} f_{\odot} \odot dm \right)_{\odot}^{n+1}$$

holds for all $n \ge 0$ and $\sigma - \oplus -$ measure m.

$$\left(g^{\lambda}(x)\right)^{-1} = g^{-1}\left(x^{\frac{1}{\lambda}}\right), \text{ we have}$$

$$x \odot y = g^{-1}(g(x)g(y)) = \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(x)g^{\lambda}(y)\right) = x \odot_{\lambda} y$$

In other words, g^{λ} is a generator of \odot . By Theorem 2.9 we have

$$\int_{\lambda \to \infty}^{\sup} f \odot dm = \lim_{\lambda \to \infty} \int_{\lambda \to \infty}^{\oplus_{\lambda}} f \odot dm = \lim_{\lambda \to \infty} (g^{\lambda})^{-1} \left(\int g^{\lambda} (f(x)) dx \right)$$
Since g is a decreasing function, so $g^{-1}, g^{\lambda}, (g^{\lambda})^{-1}$ are also decreasing function. Hence

$$\left(\int_{[0,1]}^{\sup} f_{\odot} \odot dm\right)_{\odot}^{n+1} = \left(\int_{[0,1]}^{\sup} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x)) \odot dm\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} \right) = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} \left(\left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right)\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}(f(x))\right) dx\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)_{\odot}^{n+1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} = \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda}\right)^{-1} \left(g^{\lambda$$

$$= \left(g^{\lambda}\right)^{-1} \left(g^{\lambda} \left(\lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \int_{0}^{1} g^{\lambda} (f(x)) dx\right)\right)^{n+1}$$

$$= \lim_{\lambda \to \infty} \left(g^{\lambda}\right)^{-1} \left(\int_{0}^{1} g^{\lambda} (f(x)) dx\right)^{n+1}$$

By classical Feng Qi inequality, we have

$$\lim_{\lambda \to \infty} \left(g^{\lambda} \right)^{-1} \left(\int_0^1 g^{\lambda}(f(x)) dx \right)^{n+1}$$

$$\leq \lim_{\lambda \to \infty} \left(g^{\lambda} \right)^{-1} \left(\int_0^1 \left(g^{\lambda}(f(x)) \right)^{n+2} dx \right)$$

$$= \lim_{\lambda \to \infty} \left(g^{\lambda} \right)^{-1} \left(\int_0^1 g^{\lambda} \left(\left(g^{\lambda} \right)^{-1} \left(g^{\lambda}(f(x)) \right)^{n+2} \right) dx \right)$$

$$\lim_{\lambda \to \infty} \left(g^{\lambda} \right)^{-1} \left(\int_0^1 g^{\lambda} (f_{\odot}^{n+2}) dx \right)$$

$$\int_{[0,1]}^{\sup} f_{\odot}^{n+2} \odot dm$$

Example 3.5. Let $g^{\lambda}(x) = e^{\lambda x}$, the corresponding pseudo-operations are:

$$x \oplus y = \lim_{\lambda \to \infty} \frac{1}{\lambda} \ln \left(e^{\lambda x} + e^{\lambda y} \right) = \max(x, y)$$
$$x \odot y = \lim_{\lambda \to \infty} \frac{1}{\lambda} \ln \left(e^{\lambda x} e^{\lambda y} \right) = x + y$$

By Theorem 3.1, equation (2,1) and definition χ_{\odot}^{P} the following inequality holds:

$$\sup((n+2)f(x)+\psi(x)) \ge (n+1)(\sup(f(x)+\psi(x)).$$

Theorem 3.6. Let $f:[0,1] \to [0,1]$ be a real-valued, continuous and strictly decreasing function such

that $(s)\int_0^1 f d\mu = p$. If \odot is represented by a decreasing generator g and m is a complete supmeasure same as in Theorem 2.9, then with condition

measure same as in Theorem 2.9, the
$$f\left(p^{n+1}\right) \ge p^{\left(\frac{n+1}{n+2}\right)}$$
, the inequality

$$\int_{[0,1]}^{\sup} f_{\odot}^{n+2} \odot dm \ge \left(\int_{[0,1]}^{\sup} f_{\odot} \odot dm \right)_{\odot}^{n+1}$$

holds for all $n \ge 0$ and $\sigma - \oplus$ -measure m.

Proof. The proof is similar with the Theorem 3.4.

Remark 3.7. Typical example for two above case are operation $\bigoplus = \bigvee$ and $\bigodot = \bigwedge$ that already proved in fuzzy case [1].

4. CONCLUSION

This paper proposed a Feng Qi type inequality for pseudo-integrals. The first class is including the pseudo-integral based on a function reduces on the g-integral, where pseudo-addition and pseudo-multiplication are defined by a monotone and continuous function g. The second class is including the pseudo-integral based on

the semiring $([a, b], \sup, \odot)$ is given by supmeasure, where $x \odot y$ is generated by $g^{-1}(g(x)g(y))$. For further investigation, we will investigate other integral inequalities for Pseudo-integral.

CONFLICT OF INTEREST

No conflict of interest was declared by the authors.

REFERENCES

[1] Agahi, H. and Yaghoobi, M.A., "A Feng Qi type inequality for Sugeno integral", *Fuzzy Inf. Eng.*, 3: 293-304, 2010.

- [2] Bullen, P.S. and A Dictionary of Inequalities, Addison Wesley Longman Limited, 1998.
- [3] Anastassiou, G., "Chebyshev-Gruss type inequalities via Euler type and Fink identities", *Mathematics Computing and Modelling*, 45: 1189-1200, 2007.
- [4] Bougoff, L.A., "On Minkowski and Hardy integral inequalities", *Journal of Inequalities in Pure and Applied Mathematics*, 7(2): 2-7, 2006.
- [5] Caballero, J. and Sadarangani, K., "Hermite-Hadamard inequality for fuzzy integrals", *Applied Mathematics and Computation*, 215: 2134-2138, 2009.
- [6] Caballero, J. and Sadarangani, K., "Sandors inequality for Sugeno integrals". Applied Mathematics and Computation, 218: 1617-1622, 2011.
- [7] Chen, T. Y., Chang, H. L. and Tzeng, G. H., "Using fuzzy measures and habitual domains to analyze the public attitude and apply to the gas taxi policy", *European Journal of Operational Research*, 137: 145-161, 2002.
- [8] Daraby. B., "Generalization of the Stolarsky type inequality for pseudo-integrals", *Fuzzy Sets and Systems*, 194: 90-96, 2012.
- [9] Daraby, B. and Arabi, L., "Related Fritz Carlson type inequality for Sugeno integrals", Soft Computing, 17: 1745-1750, 2013.
- [10] Flores-Franulic, A. and Roman-Flores, H., "A Chebyshev typ inequality for fuzzy integrals", *Applied Mathematics and Computation*, 190: 1178-1184, 2007.
- [11] Flores-Franulic, A., Roman-Flores, H. and Chalco-Cano, Y., "A convolution type inequality for fuzzy integrals", *Applied Mathematics and Computation*, 195: 94-99, 2008.
- [12] Flores-Franulic, A., Roman-Flores, H. and Chalco-Cano, Y., "Markov type inequalities for fuzzy integrals", *Applied Mathematics and Computation*, 207: 242-247, 2009.
- [13] Flores-Franulic, A., Roman-Flores, H. and Chalco-Cano, Y., "A note on fuzzy integral inequality of Stolarsky type", *Applied Mathematics and Computation*, 196: 55-59, 2008.
- [14] Hong, D. H., "A sharp Hardy-type inequality of Sugeno integrals", Applied Mathematics and Computation, 217: 437-440, 2010.
- [15] Krantz, S. G., Jensen's Inequality, *Handbook of Complex Variables*, Boston, MA: Birkhauser, 1999.

- [16] Kuich, W., Semiring, Automata, Languages, Springer-verlag, Berlin, 1986.
- [17] Lu, J.-Y., Wu, K.-S. and Lin, J.-C., "Fast full search in motion estimation by hierarchical use of Minkowski's inequality", *Pattern Recognition*, 31: 945-952, 1998.
- [18] Mesiar, R. and Pap, E., "Idempotent integral as limit of g integrals", *Fuzzy Sets and Systems*, 102: 385-392, 1999.
- [19] Mesiar, R. and Ouyang, Y., "General Chebyshev type inequalities for Sugeno integrals", *Fuzzy Sets and Systems*, 160: 58-64, 2009.
- [20] Mesiar, R. and Pap, E., "Idempotent integral as limit of g-integrals", *Fuzzy Sets and Systems*, 102: 385-392, 1999.
- [21] Minkowski, H., Geometrie der Zahlen, *Teubner*, Leipzig, 1910.
- [22] Ouyang, Y., Fang, J. and Wang, L., "Fuzzy Chebyshev type inequality", *Internatinal Journal* of *Approximate Reasonin*, 48: 829-835, 2008.
- [23] Ozkan, U.M., Sarikaya, M.Z. and Yildirim, H., "Extensions of certain integral inequalities on time scales", *Applied Mathematics Letters*, 21: 993-1000, 2008.
- [24] Pap, E., "An integral generated by decomposable measure", *Univ. Novom Sadu Zb. Rad. Prirod. -Mat. Fak. Ser. Mat.*, 20(1): 135-144, 1990.
- [25] Pap, E., Pseudo-additive measures and their applications, in: E. Pap (Ed.), Handbook of Measure Theory, Elsevier, Amsterdam, 1403-1465, 2002.
- [26] Pap, E., Strboja, M., "Generalization of the Jensen inequality for pseudo-integral", *Information Sciences*, 180: 543-548, 2010.
- [27] Pap, E. and Ralevic, N., "Pseudo-Laplace transform", *Nonlinear Analysis*, 33: 553-560, 1998
- [28] Roman-Flores, H. and H, Chalco-Cano. Y., "Sugeno integral and geometric inequalities", *International Journal of Uncertainty, Fuzziness and Knowledge-Based Systtem*, 15: 1-11, 2007.
- [29] Yu, K.W., Qi, F., "A short note on an integral inequality". RGMIA Res. Rep. Coll., 4(1): 23-25.
- [30] Wang, Z. and Klir, G., Fuzzy Measure Theory, *Plenum Press*, New York, 1992.